Dear Candidates,

The Objection management system for CAT 2020 was made live from 8 Dec 2020 till 11 Dec 2020.
The panels of subject experts for CAT 2020 reviewed all the objections which were received during
this window. After due deliberation and careful examination, the expert panels decided that there is
no change in the answer key for Shift 1 and Shift 3 question papers. However, the answer key for
one question (ID 48916812935) in the QA section in Shift 2 has been revised, as shown below.

Question Id : 48916812935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 3 Wrong Marks : 1
Two circular tracks T1 and T2 of radii 100 m and 20 m. respectively touch at a point A. Starting from A at the same time. Ram and Rahim are

walking on track T1 and track T2 at speeds 15 knvhr and 5 knv/hr respectively. The number of full rounds that Ram will make before he meets
Rahim again for the first time is

Options :
1.3
2.% 4
3% 35
4.92

Note: The answer key for this question has been revised. Candidates who have chosen either of the two correct options would be
awarded full marks for this question .



